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Find the general solution of each of the following equations.

‘1. y1/+2yl=0. 5. 6y"—11y'+4y=0.
2.y — 3y + 2y = 6.y +2y —y = 0.

3. ’ = 0. 7. ylll + y// lOy' _ 6y 0.
4. ylll+ yll _ 6yl = 0. 8. y(4) - y 4yll+ 4y 0‘
9. y + 4y + ¢y — 4y — 2y = 0.

10. y® — a2y =0, a > 0. 15. 3y + 5y + 4y —y = 0.
11. ¢/ — 2ky’ — 2y = 0. 16. 4"’ — 6y" + 12y — 8y = 0.
12. v/ + dky’ — 12k%y = 0. 17. v’ — 2ay’ + a2y = 0.

13. y@® = 0. 18. y® 4 3y’ = 0.

14. '+ 4y + 4y = 19. y@® — 2y = 0.

20. y® + 24" — 11y" — 12y' + 36y = 0.

21. 36y® — 37y + 4y + 5 26. 4"’ — 4y’ + 20y = 0.
22,y — 8y” + 16y = 0. 27. y® 4 4" + 4y = 0.

23. vy’ — 2y + 5y = 0. 28. ¥’ + 8y = 0.

4.y’ —y' -y =0 29. y + 4y = 0,

25. y@® + 5y + Gy 30. y©® 4+ 2"+ ¢ = 0.

For each of the following equations find a particular

satisfies the given initial conditions.

3. y/ =0, y(1) =2, () =
32. v/ + 4y + 4y = 0 y(0) = y'(O) = 1.
33. y" — 2y + 5y = 0, y(0) = y'(0) = 4.
34. /' — 4y + 20y 0, y(7r/2) = (, y’(1r/2
35. 3y + 5/ +y —y =0, y0) =0, y(0)
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.y = c1 + cge? 4. y =
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c1€® + cae?®.
c1e® + cqe2.
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y'(0) = —1.

c1 -+ c2e2% -+ c3e3,
c167/2 - coete3,
c1el—1+VDz L op(~1-VDz,



10.
11.

12.
13.
14.
15.

20.
21.
22.
23.

24.

25.
26.
27.
28.
29.
30.
3L
32.
33.
34.

35.

© ®

L et f e Q@@

L et w

<

Woy TR BOATE R 4

= 1637 + coe(~2+VDz | (3e(—2—VD)z,

c1 -+ coe® + c3e2® + cqe72%,
c16® + coe™ + cge(~2 VDT | cqe(~2-VD)z,
c1eV%% + coe—Va% | ¢3 cos A/a z + ca sin 4/a .

= c1e®HVEEFDz | (optk—VRZFD)z,

cre~ 6k | coe2kz, 16. y = (c1 + cex + c372)e2>.

c1 + cox + c3x2 + caxd. 17. y = (c1 + cox)e®®.

(c1 + cox)e—2=. 18. y = c1+ cox + c3x2 + cae~32.
= ¢16*/3 + (c2 + c3z)e 2. 19. y = c1+ cox+ c3eV2s 4 cqeV2=,

(c1 + cox)e?® -+ (c3 + cax)e™3=.
Cle—z+ 6261/2 + c3e5x/6 + C4€_I/3.

(c1 + cox)e?® 4 (c3 4 cax)e2=

= e*(c1 cos 2r + c2 sin 27).

2 2
c1cos V3 z -+ casin 3z -+ c3cos V2 + casinv2z.
e2*(cy cos 4z + c2 sin 4z).

(c1 + coz) cos V2 x + (c3 + caz) sin V2 z.
c1e=2% + e%[co cos V3 z + c3sin V3 z).

c1 + cox -+ ¢3 cos 2¢ -+ c4 sin 2z.

c1 -+ c2sinz + c3 cos x + cax sin x -+ ¢52 cos z.
3 — x.

(1 + 3z)e2=,

e*(2 cos 2r + sin 2x).

1—44/—31‘: I—N/le z/ 2 \/g . '\/5
cie 2 + coe 2 = e €308 — x + c48in — x ) -

= %e2*~7 sin 4z.
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